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H11.7.8 H14.4.18
p /
Y| C D) | C /12n) > C )

1 1 0 5.8 0 0 0 0 0

2 2 177 5.8 1,027 201 °| 7.1°| 1,427| 13.6

3 3 ( 34 11) 5,213 6.3| 32,842 | 5,516 3| 7.1 3| 39,164 5.8

4 4 ( 3 6 30) 7,459 6.3| 46,992 | 8,565 °| 7.1°| 60,812 14.8

5 5 1 5,237 6.3| 32,993 | 5,939 3| 7.5°3| 44,543 | 13.4

6 2 384 6.3 2,419 435 | 7.5°%| 3,263 | 13.3

7 3 9,351 6.3 \58_,%>11,939 3| 7.13| 84,767 | 27.7

8 4 125 5.5 688 142 3| 7.13%| 1,008| 13.6

9 5 0 5.6 0 0 0 0 0

10 6 0 .6 0 0 0 0 0

122)

11 1 3,340 6.9| 23,046 | 3,788 3| 7.5 73| 28,410 | 13.4

12 2 169 6.3 1,065 192 3| 7.1%| 16,543 | 13.6

13 3 6,237 6.5| 40,541 | 6,658 2| 7.1 2| 47,938 6.8

14 4 0 6.0 0 0 0 0 0

15 5 2,283 6.3| 14,383 | 2,983 3| 7.53| 22,373 | 30.7

16 1 34 15 9,434 71 /eggsT) 11,421 7.5 | 85,658 |  21.1 |s
17 2 48 6.5 312 54 3| 7.1° 383 | 12.5 —
18 3 2,706 70| 18,942 | 3,000°| 7.1°| 21,700 | 13.4] |
19 4 1,455 6.3 9,167 | 1,650 *| 7.1 %| 11,715| 13.4

20 5 0 5.7 0 0 0 0 0

21 6 0 6.2 0 0 0 0 0

22 7 ( 34 18) 0 6.1 0 0 0 0 0

23 8 2,189 6.2| 13,572 | 2,482 3| 7.1°%| 17,622 | 13.4

24 9 8,931 6.2 55,372 ) 9,975 3| 7.53| 74,813 | 11.7

25 3 551 5. 3,196 625 °| 7.5°| 4,688 | 13.4

26 4 64 5.5 352 73| 7.1° 518 | 14.1

27 5 0 0 0 0 0 0 0

28 6 ! 2 5 26 9,290 6'6(@ 10,535 * | 7.1 % | 74,799 | 13.4

29 7 861 5.9 5,080 976 *| 7.1°| 6,930 | 13.4

30 8 48 6.2 298 54 3| 7.5°¢° 405 | 12.5

H14.7.17 3
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